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Rasberry pi#z;':
|:| if circles is not None:

lower red = np.array([8, 8, 78]) circles = np.uintl6{np.around{circles))
upper_red = np.array([5@, 58, 255]) ror1o1n 51'151.'?5_'[‘5’- f]=
lower green = np.array([8, 78, 8]) CE:FEF‘ = {J[L,?] if1])
_ o radgius = 1| £
upper_green = np.array([58, 255, 188])

I:I area mask = np.zeros like(mask)

red mask = cv2.inRange{rgb frame, lower red, upper_red) cv2.circle(area mask, center, radius, 255, -1)
green_mask = cv2.inRange(rgb frame, lower_green, upper_green) pixels inside = cv2.bitwise_ and(mask, mask, mask=area_mask)
filled area = cv2.countNonZero(pixels inside)

| ! total area = np.pi * radius * radius

P - - . e 4 = 3 ey ! ; S > - PR » @ glce B
red pixels = cv2.countNonZero(red mask) ratio = filled area / total area if total area > @

% ] ‘ | green_pixels = cv2.countNonZero(green mask) I:I
GY—31 TCSSZOO ” = — , if ratio » 8.5 and radius »= 5:

cv2.circle(display img, center, radius, (@, 255,
cv2.circle(display img, center, 2,
valid count += 1

fﬁ<::: I Llifl éEiA} ' g%_:

e

' vold loop() { 1) N -~ » 2
I - — < IE] A = £2 2 s [E]
J ™ if(digitalRead(switchPin) == LOW || digitalRead(piPin) == LOW){ yge S ) R = T_ATL. ) B !> IR
EI. :|J' A
l:: 1 p
,z,'." et bool isGreen 1 = (green 1 + 28 < red 1);
y TR
(‘Z’ action ::
r." . - T . s N
//,’ J s bool isGreen 2 = (green_ 2 + 28 < red 2);
y |
fAY
void re() if (!isGreen_1 && isGreen_2)
fy
(. ! {
N servo_34.write(9@);
—— delay(18); ﬁ wservo.write(125)
nyServe.write(9e); Serial.println("EIESELESE 28 E")
I3
else if (isGreen_1 && !isGreen_2)
r
' ' L
void action()q
4.urite(180) Iy Ser rite(55
> = irite ); v IR EEim e .
- o Serial.println("EliET=E¥EE 280 ")
- R : 47 : , red 1 = readColor(S2 1, S3 1, OUT_1, LOW, LOW); e isGreen_1 &% isGreen 2
\é ; B R 363 | green_1 = readColor(52_1, S3_1, OUT_1, HIGH, HIGH); 1
wes | (o . Fer : Ear : S blue 1 = readColor(S2 1, 53 1, OUT 1, LOW, HIGH); |
o : - : | - » \ ySer ite(ge
' Cap : CEEEEEEE T =
\ Serial.println("ERSELEFIFINUE");
= |
red 2 = readColor(S2 2, S3 2, OUT_2, LOW, LOW); l\‘ I
gresn_2 = readColor(52 2, S3 2, OUT_2, HIGH, HIGH); else
blue 2 = readColor(S2_2, S3_2, OUT_ 2, LOW, HIGH); {
serial.println{red 1) ySer rite(@)
serial.println(green_1); Serial.printin("GERBEFRFPUUE");
serial.println({blue_1) !
serial.println(red 2); 1
Serial.println(green_2); 1 . . S
serial.println(blue_2); ]‘%I ardUIHO ‘—‘é E ﬁi}\ J])\ jé
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